#r % = 12 (ETIERR)

1BE  5H25H(1) 2B  5H268(H)
(%)) G
B R Bwmx | ww B
9:30 EF {EHE 4x100mR IEFL 1 915 HF @ 4xioomR FEEEEE 3
9:35 HBF {ERF 4xi00mR FEEER 9:30 %HF @ 4xi00mR FEEFE 3
9:45 ¥ 23%mWmiIE 100mH FHE 1 950 BF 234 3000m iEfRE 2
9:50 HF 23%5miE 110mH THE 1 10:15 ZXF 14  800m FEHEE 2
10:00 %F 23%F 1500m FHF= 3 10:25 &F 2%  800m ERHEH 3
10:25 BF 15F  1500m FEEHEE 3 10:40 %XF 3F  800m FEEHEER 2
1050 HF 24  1500m RHE= 4 1050 BF 23%F 800m R 3
11:20 BF 3%  1500m FHEE 3 11:10 &F 235 200m FREE 5 Lge
1145 BF 235 400m RER 3 Lo 1125 BF 234 200m s 7 GRS
1205 &®F 2%  100m F#EE 6 HHYE | 1200 &F  23%F 100mH BHSE 3 oo
1225 BF 25 100m ER 10 LEME | 1215 BF  23%F 1lomH EEks 2 FEE
1255 &®F 3%  100m FEHEE 6 R | 1230 xF  1F  100m BESE 6 Low
1315 BF 3%  100m s 9 Gha | 1245 BF  1F 100m s 7 GRS
1400 XF 26 100m ZHES 2 1330 &TF 23%F 200m #HER 2
1410 BF 2 100m Zk#H= 3 1340 BF 23F 200m #HEHL 2
1420 XF 3F  100m ZHES 2 1400 BF 23%F 110mH ZES 1
1430 B¥ 3& 100m #&H= 3 1415 &‘F 23%F 100mH #HE= 1
1440 ZLF 234MmiE 200m R8RS 1430 &F 1% 100m #HES 3
1450 BF 234miE 400m E8ES 1440 BF £ 100m #ZEH= 3
15:00 BF 23%F  400m HEHE 1
[(Z14—ILK] [T4—ILF]

(BREERRER) (BREERR O
9040 BF 23F EIEH EHRE 2 Ghe 940 BF 23%F EBB RHS 1
1050 ®F 236miE EED DHE 1 1000 BF 1 EEH BHE 1 Lo
1250 BF 206mE EEH DR 1 &F 1F EEH Ree 1 $EE
1310 RF 23F EEH £ 2 s 1230 ®F 234 EBH HBRE

1300 BF 23F =BH ZH2 1 aa

(5D (5D
050 KT 23F MEE REs 1 58 1000 ®F 23F MAE BHE 1 G
11:15 BF 234miE WAl RHEE 1 1200 BF 23F MBAR BHRE 1 e
1245 BF 23F MBI BHE 1 e
1310 &F 235miE ik LHE 1




